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1.

The British entered into Jharkhand for

the first time from the side of

(A)
(B)
©)
(D)

(A)
(B)
©
D)

Pakur
Chatra
Palamu

Singhbhum

Who was the leader of Bhumij Revolt ?

Dubia Gosain
Jatra Bhagat
Ganga Narain

Bhagirath

Which of the following mango variety

is mostly exported from India ?

(A)
(B)
©
(D)

Chausa
Gaurjeet
Alphonso

Langra

4. In the times of Mughals the region of

Jharkhand was known as

(A)
(B)
(€)
(D)
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What does ‘Ghumkuria’ mean ?
(A) youth dormitory

(B) dancing place

(C) aplace of worship

(D) cemetery

Which of the following festivals reveals
the economic condition of Pahari
Kharia ?

(A) Phago

(B) Jeth-Nava-Khiya

(C) Maghe

(D) Karma

The habitat of ____tribe is known as
‘Tanda’.

(A) Munda

(B) Mal Pahadia

(C) Karmali

(D) Birhor

Widow — remarriage in _____tribe is
called ‘Maiyari’.

(A) Uraon

(B) Korwa

(C) Ho

(D) Asur
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9. Which of the following places s known |9, faifea Tl

as the village of temples ? SEELELLE
(A)  Narasimhapyr | (A) TRER
(B) Maluti | (B) Tt
(C) Sisaj » () fuEd
(D) Ramjari (D) T
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{3. Taxonsell of inherited property is
(A) Land Tax
(B) Wealth Tax
(C) Income Tax
(D) Capital Gain Tax

14 Which one of the following classical
dance in its present form has influence
of Mughal tradition ?

(A) Kathak

(B) Mohiniattam
(C) Bharatanatyam
(D) Kathakali

15. World’s most problematic aquatic
weedis .
(A) Eichhornia
B) Trapa
(C) Wolffia

(D) Azolla

16. Which of the following combination
of Nuclear Power Plant and state is
wrong ? |
(A) Kalapakkam - Karnataka
(B) Kakarapar - Gujarat
(C) Kudankulam — Tamil Nadu
(D) Kaiga — Uttar Pradesh
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14.

A

16.

Tax on sell of inherited property is
(A) Land Tax

(B) Wealth Tax
(C) Income Tax

(D) Capital Gain Tax

Which one of the following classical

dance in its present form has influence

of Mughal tradition ?
(A)
(B) Mohiniattam

Kathak

(C) Bharatanatyam

(D) Kathakali

World’s most problematic aquatic

weedis
(A) Eichhornia
(B) Trapa

(C) Wolffia
(D) Azolla

Which of the following combination

of Nuclear Power Plant and state is

wrong ? '
(A) Kalapakkam - Karnataka
(B) Kakarapar - Gujarat

(C) Kudankulam — Tamil Nadu
(D) Kaiga — Uttar Pradesh
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17.

18.

19.

20.

Which of the following is not a feature

of urban life ?
(A)
(B)
©
D)

Impersonal relationship
Loss of humanistic valye
Informal ties

Competition

Before 1947, 26™ January was called as
(A)
(B)
©
(D)

Martyr’s Day
Constitution Day
Poorna Swaraj Day
Republic Day
Which of the

following causes

“maximum indoor chemical pollution ?

(A)
(B)
©
D)

Burning coal
Burning cooking gas
Room spray

Burning mosquito coil

Which of the following is one of the ore

of iron mineral ?
(A) Malachite
(B) Bauxite
(C) Hematite

(D) Chromite

Paper-I
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Who amongst the following was
awarded ‘Rajiv Gandhi Khel Ratna
Award’ for 2019 in wrestling ?

(A) Sardara Singh
(B) Deepa Malik

(C) Sushil Kumar
(D) Bajrang Punia

When was the Universal Declaration of
Human Rights adopted by the United
Nations ?

(A) 4 April, 1949

(B) 24 October, 1945
(C) 10 December, 1948
(D) 10 January, 1920

Who amongst the following is

considered as father of India’s space
programme ?

(A) G.Madhavan Nair -

(B) Vikram Sarabhai

(C) A.P.J. Abdul Kalam
(D) Nambi Narayanan

Which of the following is second
largest tribe in India ?

(A) Bhil
(B) Munda
(C) Gond
(D) Santhal
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25.

26.

27.

28.

Ro-Ro ferry started by Prime Minister

of India connects which two places ?
(A)
(B)
©)
(D)

Bhavnagar and Dahe;
Somnath and Dwarka
Ghoga and Dahej

Bhavnagar and Ghoga

Which of the following is post disaster

measure ?
(A) Reconstruction

(B) Planning and Policies
(C) Early warning

(D) Zoning
British  Prime

Minister  Winston

Churchill received Nobel Prize for
(A) Literature

(B) Economics

(C) Peace

(D) Physics

Among the following states, which has
highest forest density in India ?

(A)
(B)
(9)
(D)

Mizoram
Assam
Gujarat

Nagaland

Paper-1
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29.

30.

31.

32.

When National  Disaster

Management Authority formed ?
(A)
(B)
©
(D)

was

2008
2011
2005
2006

When was air transport started in
India ?

(A) 1921

(B) 1926

(©) 1911

(D) 1915

On which day the design of the
National flag of India was adopted ?

(A) Tuly22,1947

(B) August 15, 1947
(C) January 26, 1947
(D) June 10, 1947

Who is the current chairman of the
National Human Rights Commission of
India ?

(A) Justice HL. Dattu

(B) Justice K. Balakrishnan

(C) Justice A.S. Anand

(D) Justice S. Rajendra Babu
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34,

3s.

36.

o

Which state hag the highegt potential
for the development of solar

(A) Jharkhand

(B) Uttar Pradesh
(C) Rajasthan

(D) Madhya Pradesh

energy ?

Which of the following atomjc power
plants has largest instaljeq
(A) Kaiga

(B) Narora

© Tarapur

(D) Kakrapar

Capacity ?

Which is the largest tribe ip India ?
(A) Gond

®B) Kol
(C) Bhnil
(D) Santhal

- Where does Toda tribe mainly lives 9

(A) Tamil Nady

(B) Rajasthan

(C)  Assam

(D) Jammu and Kashmir

What is the minimum land area
récommended for forest cover to

maintain proper ecological balance i
India ?

(A) 30%
(B) 33y
C) 25%
(D) 27%

Paper-I
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38.

39.

40.

41.

Series-C

Which is the largest natural port in
India ?

(A) Chennai

(B) Tuticorin

(C) Mumbai
(D) Cochin

Which Indian language, is spoken

maximum in the world after Hindi ?

(A) Bengali

B) Malayalam
(C) Telugu

(D) Tamil

Which state has maximum road density ?
(A) Kerala

(B) Gujarat

(C) Punjab

(D) Haryana

Where is Indian Grassland and Fodder
Research Institute located ?

(A)
(B)
©)
(D)

Jhansi

Jaipur

Kota

!
!
!
|
|
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42,

43.

Arrange the following in chronological

order :

a.  Satvahanas
b.  Vakatakas

c.  Chalukyas

Select the correct code from the

following :
(A) c-b-a
(B) c-a-b
(€) a-b-c
(D) b-c-a

Ashokan inscriptions in north-western

part of the Mauryan Empire near

Peshawar were in :

(A) Araméic Script
(B) Devanagari S¢ript
(C) Kharoshthi Script
(D) Brahmi Script‘

Charvaka philosophical system was

also called : '

(A) Astika system
(B) Mimansa system
(C) Vaisesika system

(D) Lokayata system

Paper-I
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45,

46.

47.

48.

The

u“ Here o Print Adinit Carg

N

The collection of the writings of the
Saivite saints iS considered as Fifth
Veda. What is the name of the above
collection ?

(A) Silapaddikaran

(B) Manimekhalai

(C) Tirumurai

(D) Tolkapium

Which among the folloWing kingdoms
was founded by two Brothers, Harihara
and Bukka ?

(A) Kingdom of Kakatiyas

B)
©
D)

Kingdbm of Hoysalas
Kingdom of Kampili
Kingdom of Vijayanagara

foremost Indo-Roman trading
station in Eastern India was :

(A) Arikamedu

(B) Bhagrapir

(C) Tamluk

(D) Rajgir

A historical work “Gaudavaho” like ! 48.

Kalhana’s “Rajatarangini” was written
by:
(A)
(B)
©
(D)

Vakpati
Banabhatta

Bilhan
Sandhyakaranandin

Series-C
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49,

50.

1.

Who was the founder of Visistadvaita
Siddhanta ?

(A) Val]abhacharya
(B) Srikanthachaxya
© Madhavacharya

(D) Ramanujacharya

Quwwat-ul-Islam Mosque and Arha;

Din Ka Jhonpra  gre situated

respectively at :

(A) Ajmer and Delh;
(B) Lahore an&_ Ajmer
(C) Delhi and Ajmer

(D) Delhi and Lahore

Government of medieval period was a

composite structure. It was a fusion of :

(A) Perso-Arabic,
(Central Asian)

Turko-Mongol

(B) - Perso-Arabic, Turko-Mongol -

Indian Elements
(C) Perso-Arabic

(D) Turko-Mongol (Central Asian)

Paper-1
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52.

53.

54.

Who have appointed First Indian
Education Commission and in which
year ?
(A) Lord William Wedderburn in
1885

(B) Lord Curzon in 1905
©

D)

Lord Lytton in 1880
Lord Ripon in 1882

Permanent Settlement and Ryotwari
System of land revenue introduced
respectively in :

(A) Madras and Punjab

(B) Madras and Bengal

(C) Punjab and Bengal

(D) Bengal and Madras

Arrange the following events of History

of Modern India in chronological
order :

a.  Swadeshi movement

b.  Lucknow pact

c.  Morley-Minto reforms

d.  Foundation of All India Muslim
League

Select the correct code from the

following :

(A) d-c-b-a

(B) d-a-c-b

(C) a-c-d-b

(D) a-b-cd

Series-C
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SS.

S6.

57.

58.

Which of the following states in India,
do not share border with Bhutan ?

(A) Sikkim

(B) Bihar

(C)  Arunachal Pradesh

(D) Assam

In which of the following parts of India

‘Atolls’ are commonly found ?
(A) Near Khambhat Gyf
(B) Near Lakshadweep |
(C) Near Rameshwaram

(D) Near Sunderbans

Which among the following introduced

the Provincial Autonomy in British
India ?

(A) Cabinet Mission

(B) Simon Commission

(C)  Government of India Act 1935
(D) Government of India Act 1919

Who have introduced the printing press

in India and in which year ?
(A)
(B)
(©)

Spanish in 1680
French in 1745

English East India Company in
1674

(D) Portuguese in 1550

Paper-I
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(C) THvaH % fhe

(D) Frew % e

feforfem 3 @ forat ffew sire o wicg
R E 6 ?

(A) e fm

(B) wEw HHyw

(€) Wa TR arfifrm 1935

(D) ¥Ra WK arfrfva 1919

wﬁﬁﬁnﬁa%@aﬁtm‘g@ﬁ?
(A) @mﬁ%a&msoﬁl
(B) mﬁzﬁﬁaﬁmsﬁl

©) ?ﬂh?&mmﬁﬁaﬁlsu
|

(D) ‘ﬁ'ﬂ%zﬁﬁaélssoﬁl
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Q%a

CARD
8 pility
e ,thh, of the following coastal region | 59. @ # = i 3 fra ada wom | IW- E————
in India, receives rainfall from North & AHET Jawi AR ? } &
Eastern monsoon ? (A) T T
(A) Gujarat Coast . :
(B) Coromandel Coast (B) . S5 \kmﬂah S
(C) Konkan Coast (©) e
(D) Malabar Coast (D) WAIER e ftion Time

60. Which of the following statements is 60. P=HA S 91 HUA W ¥ Tt % gt

true regarding earth movement ? g ?
1.  Earthrotates on its axis from west 1. e % I gl w afeeH o
to east resulting into seasonal q‘}h * W qaw EICRE] B Z2\
changes. 9. Ty:.;ﬁ-a:,qgi%mﬁ FR T T
2. Earth revolution around sun 3 o T W a A T Hfed
results into occurrence of day and 2\ v centre/hall, as
night on earth. (A) Faa2T@R) Reevsion fors
(A) Only 2 is true. ®) 192 gl s E )
(B) Both 1 and 2 are false.
(C) Only 1 is true. | © ¥l
(D) Both1and?2 _afe true. ®) 192 iR | f"‘“m
61. Indian Satellite Series ‘INSAT" is an | 61. W SUE O INSAT’ Th &
example of : ‘ ?: b
(A) Military Satellite (A) ¥ FElE IWE .h;
(B) Polar orbiting Satellite ®) e afriE S
(C) Meteorological Satellite () wam fasm weftrd IwrE

(D)v Resource Satellite D) .

62. Which of the following characteristic

|

%62. e 2 e e e i T |
feature is appropriate for Narmada | 3 ST R 7 \
river ? ‘ (A) IFHA
(A) Wind origin | (B) AT
(B) Structural origin || ©) feeh o

I

(C) Glacial origin
‘ e (D) e 7
(D) Volcanic origin
Series-C 17 Paper-1



63.

64.

65.

Which of the following Indian state has
recorded negative population growth

according to 2011 Indian population

census ?

(A) Goa

(B) Haryana
(C) Kerala
(D) Nagaland

Which of the following statements is

true regarding Laterite soil in India ?
1. Laterite soil develops in areas

with high temperature and heavy
rainfall.

Laterite soil is rich in humus and

found in West Bengal, Assam
- and Odisha,

(A) Both 1 and 2 are true.
(B) Both 1 and 2 are false.
(C) Only 1 is true.

(D) Only 2 s true.

Which one of the following sector has

greater consumption share of water in
India ?

(A) Domestic Sector
(B) Mining Sector

© Industrial Sector
(D) Agricultural Sector

Paper-1
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63.

64.

18

6S.

e 2011 % IR R
ﬁﬁammi&m
HHTER?

foet 3 2 0 1 O 9T Y g
FuiAEas ?

1. TR T I AT & R a9
£ 7§ et 2t B |

2. AR A () Wyg e
2 3 wivadt e, 3Em ¥ 3y
arft STt R |

(A) 19285 T g |
(B) 19237 FHAE |
(C) Fo@19R |
(D) FT@2ER |

e 3 3 o & 3 et a7 v s 3
Haifers R 2

(A) e &
(B) & &w
©) 3
©)

Series-C

66. Asp
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(A)
(B)
©)
D)

67. Wh
ma

(A)

((
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66. As per 2011 Indjap population census,

67.

(A) Article

B) Article

©)

(D)

which of the following states has
largest number of towns in India ?

(A) Uttar Pradesh
(B) Gujarat

(C) Maharashtry
(D) Madhya Pradesh

Which of the following is not correctly
matched ?

No law providing for
224~ preventive detention
' shall authorise the
detention for a period
longer than three
months.

Parliament may by
the
circumstances under

222 - law prescribe

which a person may
be "detained for a
period longer than
three months.
Article
221 -

No person who is
arrested shall be in
custody without
being informed, as
soon as may be, of
the ground for such
arrest.

Right to be defended

by a legal practitioner

Article

22.1 -
of her or his choice.

Series-C

66.

67.

W ST 2011 3% 3R, P §
form w7 & Tt <) e Tl
?7?

(A) ST

(B) Tewrd

(C) wewg

(D) weATRW

frferfea & & 1 gafora T4 #

(A) IFBe 224 - Faws PRw =
IEY HA ATl
+iE faftr i Wy
¥ Ahw feg
Toram s e
Tt |

(B) ag=r222 - wwefafigs
TRt #
et s gaht
fms Il
o= a1E ¥ Al
feg & =
T |

€) gRT221 - frewm B ™
=feF ®) R
F FHROT B T
g Shenfasfis
TR fam
aftman d &
TG JR |

(D) ¥gWT22.1 - W i THg &
afeer g
e kil
FR®R |

Paper-I



¥ BE @
68. Which of the following case is related | 68, fA=feiRaad L a1

: SR A AR ?

to zamindari system ?

1. Kameshwar Singh v/s State of 1. v firg o for T
Bihar

2. THY YT S H5TE 19
2. Ramesh Thaper v/s State of

3. AT §H I NN TSy
Madras v
” e T8 ST gay

3. Motilal v/s State of Uttar Pradesh 4. dvEH ST .

4. State of West Bengal v/s Subodh |
Gopal (A) 234

(4) 2and4 B) 1,2,33N4

(B) 1,2,3and 4 © 132

(©) 1land2

(D) 1,23M3
(D) 1,2and3

69. Which of the following article is related 69. Ffeifed & & #F @ ITHE T

to the representation of Anglo-Indian [ERIEEEIR: S-S % e 3
community in  the legislative wafa? 7

assemblies of the states ? (A) IFF=T - 332

(A) Article - 332 B) T _ 335

(B) Article - 335 © =t - 333

(C) Article - 333

(D) Article - 334 (D) g3 - 334

70.  Who said ‘judicial activism’ should not

70. Rm&w%‘wﬁmm’aﬁ

become ‘judicial adventurism’ 9 T Migwae T ‘5*'" e ?
(A) Justice A.S. Anand (A) =arfd v . s

(B) Justice Ranjan Gogoi (B) ?Il'ﬂqﬁf TH "ﬁ‘ﬁé

(C) Justice Deepak Mishra (C€) =i dues frsy

(D) Justice P.N. Bhagavati

>
L — i— L ———— TP —_— TA—— Tis—

(D) = . o, ypereht

Paper-I 20 Series-C



71
1.

Union Public Service Commission may

o 71, §E e da S T AT

agree 0 serve the needs of the state 1 gt & fore wgma B el B

(A) On request of the Election - > 3
Commission with approval of the (A) . e A
President. H‘%ﬁﬁ T

(B)  On request of the Governor with (B) T=IU™™ #t w3 garE $
approval of the Prime Minister. aEgfa T |

(C) On request of the Governor with . 5
approval of the President. (€) TSI i a3 i

(D) On request of the Chief Minister H@ﬁifﬂ !

Wlth ) . o g
Minist:fPTOVal of the Prime (D) g‘@tﬁﬁ # [ 3R JuEEE e
‘ FEgfa w |
72. What s true for Planning in India ? 72, WA 3 P % e Faaat ?
1. In August 1937, the Congress Soor wE TR e
Working Committee at its meetin 1 T N
g T Fir P C A
in Wardha ad i ol i
opted a resolution of § at ¥ § Fﬂﬁ
national reconstruction and social - ey
planning. | :

2. Subhash Chandra Bose, in his 2. QU F I yegefg weo o
presidential speech at Haripura T, S Y A AR H
declared that the national state on e | TY T SATTH At =
the advice of planning TR ST & TN Y |
commission would adopt a
comprehensive scheme. 3. WA :ﬁﬁ{:ﬁ NS TT/W

3 Modi Government renamed TaRTRt l
‘Planning Commission” as. ‘Niti | 4, GITES A 3 1938 F T
Aayog’: | Yee 6 semga d T AN

4.  Subhash Chandra Bose ' Hﬁrﬁ%ﬁnﬁaﬁiﬁﬂ“ﬂiﬁ ot |
announced the formation of a ‘

National Planning Committee | (A) a3 wR
with Jawaharlal Nehru as | ®) e
Chairman in 1938. | .

(A) Only 3 is true. | © 13R3TAR

(B) All are true. ‘ (D) 3 M2aa g

(C) 1 and 3 are true. ‘

(D) 3 and 2 are truc. |

Series-C 21 Paper-1



13.

74.

15,

L (©

A person shall not be disqualified for

being chosen as a member of a
municipality
(A) Atthe age of 21 years

(B) Atthe age of 19 years
At the age of 18 years
(D) Atthe age of 20 years

Who is the author of the book :
Democracy and Development in India

from Socialism to Pro-Business ?
(A) Vishwanath Mishra

(B) Myron Weiner

(C) Partha Chatterjee

(D) Atul Kohli

Which one is not true for good

governance ?

(A)

Equity and Inclusiveness

(B) Religiosity and Emotionality

(€

Participation and Rule of law

(D)

Paper-1

Transparency and Responsiveness |

22

73.

74.

718.

e 1 G B I 5 forg 2y
safen foeféa T g

(A) 21 o Y IY HI R
(B) 19 & <t AT HAT W
(©) 18 ¥ T I HiT W

(D) 20 ¥ 1 AT HAT R

e e AT T W wy

. g g N-Ree T 5w 3

AGH P ?
(A) Tervammy firx
(B) WEH R
(C) =St

(D) 3Fge reet

T % Hed A e §a sha
TATE R ?

(A) THAT UE SHRAYA

(B) mﬁmqaimgw

(C) wrwiftran wa fafty 1y

(D) reRfar v I
SeriesC

76. Und
assig

follc

and
(A)
(B)
©
(D)

77. Wh
Fin:
fina
(A)
B)

©

78. In

Ies
(VI

not
pre
(A
(B)

(©
(D

Series-C
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————

= g4 I & o
m gﬁ ferg Bﬁ;‘ 76. Un'der constl.tutlona'l provision of tax 76.  uE F RS 53wt 5 :
aslsllgnfnen‘t in India, which of the FagaRE AP AR E L CUKLES
p—_— following is a tax exclusively imposed A T g ST SR ST S @ ? k
and collected by the states ? }
T/ (A) Land Revenue @ T
#HT | (B) Corporation Tax (B) frm = :
o (C) GST ) shwEd. 2
T I :
(D) Income Tax (D) IR
i 77, Who has been authorised to constitute 77. T 1 Fore e I bl
Z ¥ 3fe Wiy Finance Commission to review % fou faa RN H TIB? ET SIT%R?
' A JEH % financial position of Panchayat ? - _fremiome ?
(A) The Chief Minister of a State (A) T % T 3
(B) The Speaker of a legislative B) foum YT $ 37T
assembly N
C) HRdHT ;cﬂ%i
(C) The President of India N "
(D) The Governor of a State @) = st
78. In the Indian Fiscal federal system, 78. W TR HEA] T |
resources are allocated from the centre Gl 61 3 T T 1 e fohal
qH BT E to the states, which of the following is { T 8, e e 3 @ e
not a means of resource allocation at l & AT T TH ATEH TR ?
present ? g (A) 3 TR T
(A) Centrally sponsored schemes l ®) e o ¥ gt A
(B) Transfer for plan implementation | FTtEa & fT
under Gadgil formula I
e I (C) X — A
(C) Tax sharing ’
(D) HEES AL
(D) Grant-in-aid I
Paper-I
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79.

80.

81.

Which of the following is the correct
order in which the mentioned measures

of development were introduced ?

(A) PQLI, HDI, Per-capita Income
(B) Per-capita Income, PQLI, HDI
(C) HDI
Index), Per-capita Income, PQLI
(Physical Quantity of Life Index)
Per-capita Income, HDI, PQLI

(Human Development

(D)

In India’s Union Budget, Fiscal deficit

means |

(A) Difference between  current
expenditure and current revenuye,

(B) The difference between total

revenue and total expenditure of

the government.

(C) Sum of monetized deficit and

“budgetary deﬁcit

Net

Government’s borrowing from

the Reserve'Bank of India.

(D) increase  in  Unjon

Second Five Year Plan of India was
based on an economic model developed
by

(A) Amartya Sen

(B) C.H. Hanumantha Rao

(C) Dadabhai Naoroji

(D) P.C. Mahalanobis

Paper-1
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79.

80.

81.

i A T R
e 708 1T o

() PQLL HDL 3% 31

®) fy =afh M, PQLI, HD]

C) HDI (A forpr W), b

i =t 319, PQLI (Mt ey g
P REIED)

(D) k=i 3T, HDL, PQLI

WA % 1 T § TR

m@m%

() T A S
I |

B) UWWAW%%WRBQ

3T T B T A % R ey
IR R TR

(€) TFT e SR T TR g

(D) wrdta frod ¥ @ ¥z wER &
IR # g g |

WA @ s A qw
fowfn @& snfls wewt w ame
ot |

(A) It _

B) H.wm. g A

©€) TEMERS v

(D) .4, wEEmIRE
Series-C



g, InIndia, headline inflagiop i o0 82, I i Yinfeh s are gErEhify T

(A) Consumer Food Price Index '@?ﬁ%

(CFPD) (A) I @ T G (CFPD)

(B) Consumer Price Index —

Rural | Rl
Labourers (CPI-RL) ®) f T . : m)
(©)  Wholesale Price Index (WP , (CPI-RL) T |
(D) Consumer Price Index-Combined (C) b e G (WPD) T |
(CPL-C)

(D) IR Ted GEHH  (§F)
(CPI-C) W |

83, NITI Aayog has developed a composite 83. fify s I y® TSU/EE T 8T &

index for each state / UT, which T wnfea g @1 fawm frm 2
aggregates progress towards each % GUTiE faenrd & we it AR BN
Sustainable Development Goal (SDG), ATt STTe) o) Fehfora heaT & S T Y

and classifies states in achievers, front-

wiftrRat, Fmrof, frsares 3t Amnief &
i 1 & | TW TR GEHS B

runners, performers and aspirants. On

the basis of this composite index which

IR W = & *F w1 v owft T

of the following state is not a Front- | PP
Runner ?

(A) diETg
(A) Tamil Nadu 7

| (B) T

(B) Gujarat | - N
(C) Himachal Pradesh %

(D) &
(D) Kerala %

Serke-C. 25 Paper-I

— e



5. N

84.  Under Government of India’s National
Air Quality Monitoring Programme
(NAMP) covering 312 cities / towns in
29 States and 6 Union Territories of the

country, ~which of the

combination has been identified for

following

regular monitoring at all the locations ?
(A) CO,NO,, PM,, and PM,
(B) co, NO,, Oxygen Difluoride
(OF,) and PMZ' 5
(C)  Sulphur Dioxide (S0,), Nitrogen
Dioxide (NO,),
Particulate Matter (PMw) and

Suspended

Fine Particulate Matter PM, )
(D)  Sulphur Dioxide (50,), Nitrogen

Dioxide (N 0,),

Monoxide (CO), and Suspended ]

Particulate Matter (PM,)

85.  Which one of the following body is not

associated  to  Bretton Woods I
institutions ? |

(A) United Nations I

(B) World  Trade Organisation II
(WTO) ]

(C) International Monetary  Fund I
(IMF) II

(D) World Bank |
Paper-I 26

|
Carbon I

a7 3 20 T 36 FI T &t 35 5
mﬁmﬁmmm%%
Sy U AR FRiE (TR
3 aicnta fer 3 & R oo Y artt
o Frafia el ¥ Rre iRy ey
27

(A) CO,NO,, PM,, T PM,

(B) CO, NO,, T ?ﬂg'ﬁﬁl’lgg
(OF,) T PM,

(C) T SHIATHTTS (SO,), TMeghery
SR3ATETEE (NO,), Feifia sy
el (PM) 3T G it et
(PM, 5)

(D) HEH SHIATTETTS (SO,), ek
SRS (NO,),  #y
HHITETES (CO) Ua Feifi wofty
e (PM, )

ﬁwﬁ@ﬁnﬁ@wﬂa@m
aw&aaﬁ% ?

(A) wI® Y

(B) ﬁwmm

(€)  SrUigt gz iy

'(D) fove ¥+

Series-C
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86. Higes Boson are g5, known as, 86. farm S =t o oft S v R
(A) Proton M HIEY
(A) A% ™
(B) Neutrons *
(B) “ERFIWA

(C©) God Particleg
(C) Tie®Hu % AH A

(D) TARAFAAH

(D) Electron

\

wer Sheet as per

87. If the rupees per US Dollar exchange | 87, e T T el § S e g

01636 & Email

rate changes from ¥ 60 to % 65 in atime T gt 2 60 wfe SR A T T 2 65 b cemrestt s
period by the market forces, it implies ReerRaTREa bl
(A) Appreciation of Rupee

| | ' (A) T T SR BT |
(B) No change in exchange rate ®) R it o v 7 A | R

(C) Depreciation of Ru
pee (C) ¥ 1 77 B A |

m, Ranchi

(D) Devaluation of Rupee
P (D) ¥ HT R BT |

88. TR Y Sma 1 g T e

Chromosomal theory of inheritance

i
|
was given by, ‘ (A) e |
(A) Mendel !l : ' . ‘
B (B) FETER
(B) Sutton and Boveri l
l C€) AW
(C) Muller ‘

(D) TER
(D) Waldeiyer l|

27 Paper-1
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89.

90.

91.

92,

e R ———

The speed of light in air depends on,
(A) Density

(B) It is independent of pressure,
temperature and density

©

(D)

Temperature

Pressure

Which is not an insect ?
(A) House fly

(B) Bed-bug

(C)  Mosquito

(D) Spider

Light Emitting Diode (LED) work on
principle of

(A) Thermionic emission

(B)  Photoelectric code

©) Electroluminiescence

(D) Laser

Which one is not an example of

electromagnetic wave ?
(A) X-rays

(B) Ultraviolet rays
(C)  Supersonic waves

(D) y-rays

Paper-1

| 89. wd

28

90.

91.

92.

el bt =T R e
(A) g |

) q_&,marqaﬁzmﬁwaag,
(C) AW

(D) TEW

frefifea d AP TR 7
(A) e

(B) @WeHdA

(C) A9

D) lmﬁ

TER ISR TS F B w
g g

(A) TUERS IeasiT

(B) FR-dE R '.

© iy
(D) e

R idsma
TE T R 7

A) xR

(B) U faor
©) watfram
D) y-fomom

ferga-grrebig wn &
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JHARKHAND PUBLIC SERVICE COMMISSION

PROVISIONAL ADMIT CARL
~.hiart 1o Eligibility

03. The form of informatio i Fag séag'ﬂaﬁi oS Y9 TG T
. N signal yseq i T '
sending fax anq €majl ig o ” ' 2 ﬁ
, Hohd 1 €Y BT

(A) T wd fefee e ot
(B) AT wE fefreet fomer o & o 7t

(A) Analog ang Digita] signal both

(B) None of Analog ang Digital signa]
(C) Analog signal

(D) Digital signa) (©) i R
(D) fefrea fimer
94. Nitrogen is taken by plants : ' ; :
. plants in the form | g4, W%m?ﬁwﬁmwmm%
(A) Nitrate (A) g
(B) Nitric acid (B) R ame
(C) Chloride (C) FNTsE
(D) Oxide (D) s

95.  The basic unit of quantum information | 95, wETen AT 1 e A B
is,

(A) BYTE (A) BYTE
(B) GIGABIT (B) GIGABIT
(C) QUBIT (C) QUBIT
(D) BIT (D) BIT

%. Cloud computing services does not | 96. W TV Ya HiTHTTG T Fedt &«

include,

| @) s
(A) Software as a service i
(B) Allotment of electromagnetic l (B) 3e0-Frahr ola ST
spectrum | (C) 3T T e
(C) Infrastructure as a service ’ b} TS
(D) Platform as a service I
Series-C 29 Paper-I



97.

98.

99,

100.

Paper-1

The botanical name of macron; wheat
is:

(A) Triticum monococcum

(B) Triticum dyrum

(C©) Triticum dicoccum

(D) Triticum aestivum

First herbicide produced in the world is :

(A) Pendimethalin
(B) Semazin

© 2,4D

D) 2,4, 5T

The deadly disease of groundnut is
(A) Powdery mildew

(B) None of these

(C) Tikka ‘

(D) Damping off

Maize — Potato — Sugarcane (ratoon) —
Moong is the example of crop rotation

for

(A) 3 years

(B) 4years ,

(C) 1year
(D) 2years

30

97.

98.

99.

100.

e i 1 e T R

@) ffewn s
(€) TR ST

(D) @WQ@W

(A) 3y
(B) 4wy
© 1=fq
(D) 2y

g —————

T —————————
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